Port section on AA x2

Typ. 1SS/Support structure fostener detoil x2

(4d a,c,d refer to
\2/ drawing 4005

50,12.5, ond 6.25Kg weights respectively,

sheets 1 to 4.

Mass Toble

ltem Description Drawing/Description QtyMoss/item | Mass

1_ | Ballost weight support structure 89~-GP-1000~-4002 |1 (578 578

2 | Hordened insert 89-GP-1000~-4003 | 3 |negligible |0

3 | Bollost weight baseplate 89-GP-1000-4004 |2 |81.3 162.6

4a | Bollost _weight (50 Kg.) 89—-GP—-1000~-4005 {2 |50.0 100.0

b_|Bollost weight (25 Kg.)

¢ |Bollast weight (12.5 Kq.) 2 [125 25.0

d_|[Boallost weight (6.25 Kg.) 2 [6.25 12.5

S | Basepiote washer 89—-GP—-1000~-4006 | 12 {0.07 0.84

6 [ ISS locoting pin 89-GP-1000-4007 |4 |2.8 11.2

7 | Support structure retaining pin (819 x 50 grip SS [2 |0.11 0.22
self locking pins

8 | Ballast weight retoining pin 219 x 100 qgrip SS | 4 negligible |0
self locking pins

9 [ISS locating pin cop screws M12 x 35 16 [0.03 0.48

10_| Support structure cop screws M12 x 60 16 10.054 0.86

11 | Support structure set screw M12 x 30 fiot point| 1 ]0.026 0.026

12 | Baseplote mounting balts M24 x 170, 40 12 10.6 7.2
threaded

13 | Bollost weight cop screws M12 x 50 6 10.05 .30

14 | Boseplote Nuts M12 12 |negligible |0

Total mass 899.226

GEMINI

8-4 Teescopes Project

ADMWMS 2icse |

Bolost 2
l 89-GP-1000-4001 | c
| [een 3

wn

1

0






